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Se radio waves
€ of the ¢]

20 km distance?
€ctric fields at 20 Km distance?

< ¢
b Akt vl
.ff.

b 2
9(1\“!0 vslo

E——— _—..-IH-.—-‘---... ‘_-—-\.l'
— i —

| L
3¢ f')tm s )| R.85410 "F/om)




i S
o h'- .- ™ " -
LI )

'-5:,

erm 1:?.1??‘!-' he time that it takes a ray passing at an incident angle zero to

 one end of the fiber to the other end in the fiber in terms of the <
vari ables given and the speed of light .
h ) Another ray reflects off the fiber /cladding interface at the critical angle.

rmine the time that it takes for the ray to pass from one end of the fiber to
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3 (1 -j@ ) Suppose a pamcle of dust 18651?161”10&1 and has a density p=2.5 g/cm’ and
*’6 m. The dust particle 1s hg_ht-absorbmg (black),
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e dust partlcle gets into the beam of a powerful laser that produces 10 W of power, and
the la lar and of diameter 1.5 mm: SRR
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(4 pts) What is the radiation pressure of the laser beam on something black (in
N/ m?)?

o ,{[ A 3 pts) What is the net force on the dust particle due to radiation pressure?
pts) What is the acceleration of the dust partlcle due to radiation pressure?
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:1;; (4 pts) Calculate the resonant frequency f of the circuit.
b’ ) What is the impedance Z of the circuit at resonance?

——

) What is the impedance Z of the circuit at 110% of the resonant frequency?




